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351. What is the size of drilled hole for reaming, ø 10 mm? 𝜙10 feeh dh jhfeax ds fy, fMªy fd, x, 

Nsn dk lkbt D;k gS\ 
A. 8.5 mm  B. 9.75 mm 
C. 10.00 mm D. 10.25 mm 
Answer-B 

352. What is the name of part marked as X in hand reamer? gS.M jhej es x ls fpfUgr Hkkx dk uke D;k gS? 

 

A. Taper lead Vsij yhM  B. Bevel lead csosy yhM 

C. Circular lead ldqZyj yhM  D.Taper lead angle Vsij yhM ,axy  

Answer-D 

353. Why drilled holes are over size than drill dia? fMªy ds O;kl dh rqyuk es fMªy fd, x, fNnz vkdkj es 

vf/kd D;ks gS\ 
A. Feed ratio is more QhM vuqikr vf/kd gS B. Cooling is in effective “khryu izHkkoh gS 

C. Insufficient clearance angle vi;kZIr Dyhjsal 

D. Unequal length of cutting edge dfVax ,t dh vleku yackbZ 

Answer-D 

354. What is the counter sink angle of chamfering in the end of drilled hole for threading? FkszfMax ds fy, fMªy 

fd, x, Nsn ds var es pEQfjax ds fy, dkmaVj flad dks.k D;k gksrk gS\ 
A. 750   B. 800 
C. 900   D. 1200 

Answer-D 
355. What is the name of thread? bl FkzsM dk uke D;k gS\ 

 
 

A. Vee thread oh FkszM  B. Buttress thread cVjsl FkszM 

C. Square thread Ldk;j FkzsM D. Saw - tooth thread lk VwFk FkszM 

Answer-D 

356. What is the name of part marked X? x ls fpfUgr Hkkx dk uke D;k gS\ 
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A. Root :V   B. Pitch fip 

C. Crest ØsLV   D. Helix angle gsfyDl dks.k 

Answer-D 

357. Why centre screw is provided in the die stock? MkbZ LVkWd es dsanz LØw D;ks iznku fd;k x;k gS\ 
A. To tighten the die MkbZ dks dlus ds fy, 

B. To adjust the depth of cut dV dh xgjkbZ dks lek;ksftr djus ds fy, 

C. To adjust the dia of internal thread vkarfjd FkszM ds O;kl dks lek;ksftr djus ds fy, 

D. To adjust the dia of external thread ckgjh FkszM ds O;kl dks lek;ksftr djus ds fy, 

Answer-B 

358. What is the included angle of metric V threads? ehfVªd v FkszM~l dk lkf=fgr dks.k D;k gS\ 
A. 450   B. 290 
C. 600   D. 470 

Answer-C 
359. What 46 represent in standard marking system of grinding wheel (32A46H8V)? xzkbafMx Oghy 

(32A46H8V) ds ekud vadu iz.kkyh es 46 D;k n”kkZrk gS? 
A. Grade xzsM   B. Grain size xzsu lkbt 

C. Type of bond ca/ku dk izdkj  
D. Type of abrasive vi?k’kZd dk izdkj 

Answer-B 

360. What is the tool used in grinding operation? xzkbafMax vkWijs”ku es iz;qDr midj.k D;k gS\ 

 
 

A. Honing tool gksfuax Vwy  B. Abrasive stick ?k’kZ.k NMh 

C. Diamond dressers Mk;eaM Mªslj D. Star wheel dressers LVkj Oghy Mªslj 

Answer-C 

361. What is the colour of aluminium metal?,Y;wehfu;e /kkrq dk jax D;k gS\ 
A. Dull white ean lQsn  B. White lQsn 

C. Bright white pednkj lQsn D. Bluish grey colour Cyqb”k xzs jax 

Answer-B 

362. What H denotes in the specifications of grinding wheel 32A46H8V? xzkbafMax Oghy 32 A46H8V ds 

fofunsZ”ku es H D;k n”kkZrk gS? 
A. Grain size xzsu lkbt B. Type of abrasive vi?k’kZd dk izdkj 

C. Grade xzsM   D. Structure lajpuk 

Answer-C 

363. Why precision instruments are made of invar steel? D;ks fizfl”ku midj.k bUokj LVhy ds cus gksrs gS\ 
A. Durability LFkkf;Ro  B. Cheaper in cost ykxr es lLrk 

C. Surface finishing is fine lrg ifj’dj.k vPNk gS  
D. Least coefficient of expansion foLrkj dk de xq.kkad 

Answer-D 

364. Calculate the reading of vernier micrometer? bl ofuZ;j ekbØksehVj dh jhfMax dh x.kuk djsa\ 



 

 

 

A. 9.923 mm  B. 9.963 mm 
C. 9.563 mm  D 9.763 mm 
Answer-B 

365. Why lime stone serves as flux added to the ore in the blast furnace? CykLV QusZl es Mkys x;s v;Ld (ore) 
es pqus dk iRFkj izokgh (¶yDl) ds :i es D;ks feyk;s tkrs gS\ 
A. To form molter slag eksYVj LySx cukus ds fy,  

B. To supply the oxygen  vkWDlhtu dh vkiwfrZ ds fy, 

C. To burn the carbon in coke dksd es dkcZu dks tykus ds fy, 

D. To increase the melting point of ore v;Ld (vkWj) dk ?kwyu fcUnq c<kus ds fy, 

Answer-A 

366. Which micrometer having provision of interchangeable anvils? dkSu ls ekbØksehVj es fugkbZ (anvils) dks 

vkUrfjd :i ls cnyus dk izko/kku gksrk gS\ 
A. Depth micrometer MsIFk ekbØksehVj B. Inside micrometer bulkbZM ekbØksehVj 

C. Outside micrometer vkmVlkbZM ekbØksehVj D. Screw thread micrometer LØw FkszM ekbØksehVj 

Answer-D 

367. Which factor determine the selection of wire in screw thread micrometer? LØw FkzsM ekbØksehVj dk dkSu lk 

ok;j p;u dk Lo:i fufJr djrk gS? 
A. Thread angle pwMh dk dks.k    

B. Type of thread and pitch pwMh dk izdkj vkSj fip 

C. Root and crest :V vkSj ØsLV 

D. Major diameter izeq[k O;kl 

Answer-B 

368. What is measured with telescopic gauge? VsfyLdksfiax xst ls D;k ukik tkrk gS\ 
A. Depth xgjkbZ  B. External dimension ckgjh Mk;esU”ku 

C. Angular dimension dks.kh; Mk;esU”ku  

D. Size of holes, slots and recesses fNnz,LyksV vkSj fjllslksa dk lkbt 

Answer-D 

369. What is produced from blast furnace? CykLV QusZl ls D;k mRiUu gksrk gS\ 
A. Pig iron पिग आयरन  B. Cast iron कास्ट आयरन 

C. Wrought iron रॉट आयरन D. Malleable iron uje yksgk 

Answer-A 

370. What is the minimum dimension can measure with telescopic gauge? VsyhLdksfid xst ds lkFk U;wure 

vk;ke D;k eki ldrk gS\ 
A. 8.0 mm  B. 12.7 mm 
C. 19.0 mm  D. 150 mm 
Answer-A 
 

371. Which gauge is used to measure below 8 mm dimension? 8 feeh vk;ke ls uhps ekius ds fy, fdl xst 

dk mi;ksx fd;k tkrk gS? 
 



 

 

 
 
 
 
 
 
 
 
 
A. Telescopic gauge VsyhLdksfid xst B. Small hole gauge NksVk Nsn xst 

C. Depth micrometer xgjkbZ ls ekbØksehVj 

D. Inside micrometer vanj ekbØksehVj 

Answer-B 

372. Which cast iron has the ability to minimize tool chatter in machine tools? fdl dkLV vk;ju es e”khu VwYl 

es Vwy pVj dks de djus dh n{krk gksrh gS\ 
A. Grey cast iron xzs dPpk yksgk  B. White cast iron lQsn dPpk yksgk 

C. Nodular cast iron xkaBnkj dPpk yksgk D. Malleable cast iron fuanuh; dPpk yksgk 

Answer-A 

373. What is the name of the fit? bl fQV dk uke D;k gS\ 

 
A. Transition fit Vªkath”ku fQV  B. Clearance fit Dyh;jsal fQV 

C. Shrinkage fit fJdst fQV  D. Interference fit bUVjQsjsal fQV 

Answer-B 

374. What is the term of the algebraic difference between a size, to its corresponding basic size? vkdkj ds chp 

ds chtxf.krh; varj dks mlds lacaf/kr ewy vkdkj es D;k dgk tkrk gS\ 
A. Deviation fopyu  B. Upper deviation vij fopyu 

C. Lower deviation yksoj fopyu D. Actual deviation okLrfod fopyu 

Answer-A 

375. What is the upper limit of the component size? 

?kVd vkdkj dh vij fyfeV D;k gksxh \ 
A. 0.005  B. 0.008 
C. 19.995  D. 20.008 
Answer-D 

376. What is the term used for the relationship exists between two mating parts?  
nks esfVax Hkkxks ds chp es laca/k ds fy, iz;qDr “kCn D;k gS\ 
A. Fit fQV   B. Limit fyfeV 

C. Tolerance Vksyjsal  D. Allowance vykmal 

Answer-A 



 

 

377. What is the least count of vernier micrometer?  
ofuZ;j ekbØksehVj dk vYiRekad D;k gS\ 
A. 0.01 mm  B. 0.02 mm 
C. 0.001 mm  D. 0.002 mm 
Answer-C 

378. What is name of the tool? bl Vwy dk uke D;k gS\ 
 
 
 
A. Flat scraper likV [kwjpuh  B. Hook scraper gqd [kwjpuh 

C. Half round scraper gkQ jkmaM LØsij D. Three square scraper rhu oxZ [kwjpuh 

Answer-A 

379. How chipped out scraper can be repaired?  
dSls [kqjpuh dh ejEer dh tk ldrh gS\ 
A. Filing Qkbfyax  B. Lapping ysfiax 

C. Chiselling phtfyax  D. Grinding and honing xzkbafMax 

Answer-D 

380. Which part of vernier micrometer is marked with vernier scale graduation? ofuZ;j ekbØksehVj ds fdl Hkkx 

dks ofuZ;j Ldsy xzstq,”ku ds lkFk fpfUgr fd;k x;k gS\ 
A. Anvil ,ufoy         B. Frame Ýse 

C. Thimble fFkacy   D. Barrel cSjy 

Answer-D 

381. Which instrument is used to measure the effective diameter of screw threads? LØw FkszM~l ds izHkkoh O;kl dks 

ekius ds fy, fdl midj.k dk mi;ksx fd;k tkrk gS\ 
A. Screw pitch gauge LØw fip xst   
B. Outside micrometer vkmVlkbM ekbØksehVj 
C. Screw thread micrometer LØw FkszM ekbØksehVj 

D. Screw thread caliper gauge LØw FkszM dSyhij xst 

Answer-C 

382. What is the name of part marked x in dial gauge?  
Mk;y xst es x ds :i es fpfUgr Hkkx dk uke D;k gS\ 
 

 

 

 

 

 

 

A. Anvil ,ufoy  B. Stem LVse 

C. Pointer IokabVj  D. Plunger Iyatj 

Answer-D 

383. What is the lower limit of size, if dimension is stated as\ 
vkdkj dh fupyh lhek D;k gS] ;fn vk;ke gS\ 

A. 24.85 mm  B. 24.75 mm 
C. 25.00 mm  D. 25.021 mm 



 

 

Answer-D 
384. What is the name of system if the size of the hole is kept constant, shaft is varied?;fn Nsn dk vkdkj fLFkj 

j[kk tkrk gS] vkSj “kk¶V vfLFkj gS] rks flLVe dk uke D;k gS\ 
A. Bilateral system ckbysVjy flLVe B. Unilateral system ;wuhysVjy flLVe 

C. Hole basis system gksy csfll flLVe D. Shaft basis system “kk¶V csfll flLVe 

Answer-C 

385. What is the algebraic difference between the actual size and its corresponding basic size? okLrfod vkdkj 

vkSj blds lacaf/kr csfld lkbt ds chp chth; varj D;k gS? 
A. Deviation fopyu  B. Tolerance lgu”khyrk 

C. Actual deviation okLrfod fopyu D.Upper deviation vij fopyu 

Answer-C 

386. Which device is used in conjunction with dial test indicator? Mk;y VsLV bafMdsVj ds lkFk fdl midj.k dk 

mi;ksx fd;k tkrk gS\ 
A. Chuck pd   B. Stand  LVsaM 
C. Tool rest Vwy jsLV  D. Bench vice csap okbl 

Answer-B 

387. Which scraper is used to scrape small diameter holes and deburing edges of holes? NksVs O;kl ds fNnzks vkSj 

Nsn ds fdukjks dks fMcx djus ds fy, fdl [kjpuh dk mi;ksx fd;k tkrk gS\ 
A. Flat scraper likV [kqjpuh B. Hook scraper gqd [kqjpuh 

C. Triangular scraper f=dks.kh; [kqjpuh D. Bull-nose scraper cqy ukst [kqjpuh 

Answer-C 

388. Which surface is used for scraping large bearing surface? cMs fc;fjax dh lrg dks [kqjpus ds fy, fdl 

[kqjpuh dk mi;ksx fd;k tkrk gS\ 
A. Flat scraper likV [kqjpuh  B. Hook scraper gqd [kqjpuh 

C. Triangular scraper f=dks.kh; [kqjpuh        D. Bull-nose scraper cqy ukst [kqjpuh 

Answer-D 

389. What is the difference between maximum limit of size and the minimum limit of size? vkdkj dh vf/kdre 

lhek vkSj vkdkj dh U;wure lhek ds chp D;k varj gS\ 
A. Tolerance VkWyjsal  B. Basic size ewy vkdkj 

C. Limits of size vkdkj dh fyfeV D. Upper deviation vij fopyu 

Answer-A 

390. Which is grade of tolerance? xszM vkWQ VkWyjsal dkSu lk gS\ 
A. Bilateral tolerance ckbyssV~jy VkWyjsal B. Unilateral tolerance ;wuhysV~jy VkWyjsal 

C. Fundamental tolerance QaMkesaVy VkWyjsal D. Fundamental deviation ekSfyd fopyu 

Answer-C 

391. What is the maximum limit of size if the basic size of the hole is 25 mm and the deviation is ± 0.2mm? 
;fn Nsn dk csfld lkbt 25 feeh vkSj fopyu ± 0-2 feeh gS rks vkdkj dh vf/kdre fyfeV D;k gS\ 
A. 25.2 mm  B. 24.8 mm 
C. 25.02 mm D. 24.08 mm 
Answer-A 

392. What is the name of part marked X?  
Hkkx x dk uke D;k gS\ 



 

 

 
A. Anvil ,ufoy  B. Steam LVse 

C. Pointer IokabVj  D. Plunger Iyatj 

Answer-D 

393. What is the name of the instrument? ;a= dk uke D;k gS\ 

 
A. Dial vernier caliper Mk;y ofuZ;j dSfyij  

B. Vernier micrometer ofuZ;j ekbØksehVj 

C. Dial test indicator lever type Mk;y VsLV bafMdsVj yhoj Vkbi 

D. Dial test indicator plunger type Mk;y VsLV bafMdsVj Iyatj Vkbi 

Answer-C  
394. What is the name of fit? fQV dk uke D;k gS\ 

 

A. Transition fit Vªkath”ku fQV  B. Shrinkage fit flzadst fQV 

C. Clearance fit Dyh;jsal fQV  D. Interference fit baVjQsjsal fQV 

Answer-D 

395. What is the maximum limit of size if size on drawing is    ? 
 ;fn Mªkbax ij  vkdkj gS rks vkdkj dh vf/kdre lhek D;k gS\   
A. 19.988  B. 19.979 



 

 

C. 20.012  D. 20.021 
Answer-A 

396. Which term indicates the difference between the maximum limit of size and minimum limit of size?  
vkdkj dk vf/kdre lhek vkSj vkdkj dh U;wure lhek ds chp varj dks dkSu lk “kCn n”kkZrk gS\ 
A. Deviation fopyu  B. Tolerance Vksyjsal 

C. Actual size okLrfod vkdkj D. Upper deviation vij fopyu 

Answer-B 

397. Which type of fit, the tolerance zone of hole is below the tolerance zone of shaft? fdl izdkj dk fQV es] 

gksy dk VkWyjsal {ks= “kk¶V ds VkWyjsal {ks= ds uhps gS\ 
A. Transition fit Vªkath”ku fQV  B. Clearance fit Dyhs;jsal fQV 

C. Shrinkage fit flazdts fQV  D. Interference fit baVjQsajsal fQV 

Answer-D 

398. Which term indicates the algebraic difference between the actual size and its corresponding basic size?  
dkSu lk “kCn okLrfod vkdkj vkSj blds lacaf/kd ewy vkdkj ds chp chth; varj dks bafxr djrk gS\ 
A. Deviation fopyu       B. Actual deviation okLrfod fopyu 

C. Upper deviation vij fopyu D. Lower deviation yksvj fopyu 

Answer-B 

399. What is the name of the tool?  
Vwy dk uke D;k gS\ 

 
A. Flat scraper ¶ysssV [kqjpuh   B. Hook scraper gqd [kqjpuh 

C. Half round scraper gkQ jkmaM LØsij  D. Triangular scraper f=dks.kh; [kqjpuh 

Answer-C 

400. What is the name of the part marked X of lever type dial test indicator?  
yhoj Vkbi Mk;y VsLV bafMdsVj ds Hkkx x dk uke D;k gS\ 

 

A. Pivot fioksV  B. Lever yhoj 

C. Stylus LVkbyl D. Scroll LØkWy 

Answer-C 
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